THE BEATLES

Complete the text with words used in the
video report.

Sir Paul McCartney has been blamed for

1. the Beatles since

2. .

He was the first to acknowledge that the
band was 3. ina

4. for his debut
album.

He later 5. the rest of the

band to 6. their business
relationship.

McCartney says that one day John
Lennon said that he was leaving the band, and that it

was 7. , rather like a divorce.

Lennon wanted to spend more time with Yoko Ono and 8. peace protests.

He missed the last 9. of the Beatles because he was on holiday with
Yoko Ono.
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